1.

3.

( 2)

SECTION~]
Li- LS |

Discuss the factors responsible far 4.

formation of the Indian Nation
What were the British policies towared early

nationalists?
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Trace the course of expansion of Western
and technical education in Bihar between

1857-1947.
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Critically analyze the factors responsible for
the emergence of Gandhiji as an eminent
nationalist leader.
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Write an essay on the Quit India Movement
of 1942, Was it a Spontaneous movement? 38
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5. Describe the chiel charat
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fa) Santhal Uprising n
(h) Champaran Satyvagraha

{c) Rabindranath Tagore’s Contribution to
the Freedom Movement
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6. Write short notes on: any
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7. Discuss the origin, membership, develop-
ment and objectives of ‘QUAD’. What is its c
significance for India? 38 El
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12, Study the following table carefully
answer the questions given below .

Percentage marks obtained by seven studernis
in six different subjects

i Subject
A B C D E F

g {Out of | (Out of | fOutof | (Cut of | (Out of | (Ol of
75) 150) 100) 50) 150) 75)
P 85 68 76 92 89 82
Q@ 78 T2 84 80 64 70
R 66 75 79 88 72 66
S 74 62 a1 74 70 74
T a0 75 67 68 69 78
v 86 80 69 78 82 80
W 82 68 g1 a5 76 79

(a) Find the total percentage marks secured
by R in all the six subjects together.

() Find the difference between the marks
obtained by Pin the subjects B, D and E

together and the marks obtained by T'in
the same subjects.
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(€  Find the Verage magics obtaj,
the Studentg N the Subje e

ct A

Subjects ¢ and D together,

What is the total Mmarks

obtained by
the students In subject

F?
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P| s8s 68 76 92 89 i
o 7s 72 84 80 o A
R 66 75 79 88 L :i
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T | 90 75 67
78 82 80
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81 85 76 72
w| 82 68
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Study the following pie-charts carefully and
answer the questions given below :

Sales of toasters

(a)

(b)

49/FG/CC/M-2022-02/105A

Market share in 201 3-2014

2010-2011

Videocon has
its market share at the
same level {rom n010-2011, what is the
total number of toasters sold by

Videocon in these four years?

Assuming that
maintained

If in 2012-2013 the market share of

BPL was 7%, then what is the change in

the number of toasters sold by BPL from
2012-2013 to 2013-20147

( Turn Quer )
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sold increases at the Ssame .::: " o2 v
2014-2015 as it did from 2013, 201, M a &
2013-2014, and assuming furgy,, 3, 0 ¥
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will be the number of units solq by L
in 201420157 &
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fe) 1If in 2013-2014 1 IFB sold 700q % (1) . 4
anits and effected the marlket shar & .
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its market share (in Yo)? 4"'3*"5"'3-1-113 e,

%7
"
ﬁﬁquﬁﬁmmﬂﬁ*m%%h L
e §EH F S difere : :
ZRT F1 (7] |
EﬂI_E-EﬂH
(350000)
' (%)
2012-2013
(300000)
49 |FC

/FG/ CC/M-2022-02/105A

( Continued |



( 2 )

Ly a4 fa difzmwia A 20102011 #
(F e = et 3l v o wam et R,
ﬂyﬂvﬁq w10 ST HEN 7 AR Aeary )

f g weon ¥ A mi
| —
(@) 5012-2013 & BPL # A freard 7% -0

off, @ 2012-2013 § 2013-2014 7% BPL
mﬂﬁﬁmﬁmﬂﬁaﬁtﬁﬁﬁmﬂﬁmmqhaﬁq

7 -
gy iy
uﬁ‘m‘ﬁmﬁamﬁ?ﬁﬁﬁ “rerrn’ ft UF

3 ofw e okt ‘s W 40% FEH FA 2,
3 2013-2014 # ‘TEwSN F i 2z 49

MY

()

(ﬂ)ﬂmﬁg%iﬁﬂﬂ,ﬂﬁﬁﬁm
2014—20151‘&3&&%1@%%&3&%
7012-2013 ¥ 2013-2014 T H €, 3
mﬂﬁtﬂswﬂmgqﬁwsﬁaﬂm

U Tt 3, @ 2014-2015 ® TVS

mﬁﬂw@ﬂWWM?

ar & EIRI

i ) L

(z) AW 2013-2014  IFB 3 7000 SR THE
3 i @ FEEE £ awm Rl #
wﬁaﬂm,ﬂmaﬁﬂm (% R) ¥

il

49/FG/CC/ M-2022-02/ 105A ( Turn Qver )



(10 ) 40
@ o
14. Study the following graph carefully Al gogﬁ'
answer the questions given below . a[mﬂ
Target and arﬁm!l production of bolts (in 000 Y,
in a factory i
‘! € o
—e— Target production ‘P‘
300 1 : 284 e
--m-- Actual production -
280 + A P ;-‘ ] 205 @
S sl * 255
= 2404 X 241 'g',lf
-
g 220- o oA 5
= 200- el
S
£ 180-
= 160
R 140
i 125
100 T T T T T T T T T T 1
2001-02 2002-03 2003-04 2004-05 200506 2006-07

Years
(a) What is the percentage change in the
targeted production from 2004-2005 to
2005-20067?

(b} In which period was the percentage of
actual production with respect to target
production the highest?

fc) What is the ratio of the number of years
in which the actual  production was
above the average actual production to
the number of y in which the actual
production was below the average
actual production? , /
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15. The following bar graphs show the Per Capita
Income and National Income of a country for

the given years. Refer to the bar graphs to
answer the questions that follow :
Per Capita Income (in ¥)

4933

| P 1630
674

1950 19y

;9?1 1981 1991
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( 13 )

National Income (in ¥ 00 crore)

90
d e

s

152 7
=l

1224

4726

1951

"
T

Years

1961 1971 1981 1991

(a) What is the growth percentage in ‘Per
Capita Income’ from 1951 to 19917

(b) What is the annual growth rate of ‘Per
Capita Income’ from 1961 to 1971

(assuming that the growth was uniform
throughout)?

c) Find the country’s population during

1981.

(d) What was the growth rate in population
during the decade 1981-199 1?

fe) By how much percent the ‘National
Income’ grew from 1951 to 19917

49/FG/CC/M-2022-02/105A

6+8+8+8+6=30
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